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252 4 Continuous-Time Signal Analysis: The Fourier Transfopy,
Table 4.1
A Short Table of Fourier Transforms
m
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Table 1.2

Fourier Transform Operations
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The shine ntegration property 1Eqg. (4470 has alicady been proved in Exanple
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che time-differentiation property, lind the Fourier transforn of the riangle
piise A Hustiated e Fig, 4,250,
To ad the Fourier rransform of this pulse we differentiate the pulse succossively.
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AR cero everywhiere, But df 1dt has jump discontinuities with o positive Jjunip of
SE e 5 and wonegative jump of 1 - at £ = 0. Recall that the derivative of a
st g Smp discontinuity is an impulae at that point of strength cgual to the unount
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Table 4.3

Some Window Functions and Their Characteristics

Rolloff Peak
Mainlobe Rate Sidelobe

Window w(t) Width dB/oct  Level in dB

I Rectangular: rect(%) 4%“ —6 —13.3
2 Bartlett: A(55) & ~12  —26.5
3 Hanning: 0.5 [1 + cos (Zt)] e —-18  —315
! Hamming: 0.54 + 0.46 cos (42}) &z —6 —42.7
7 Blackman: 0.42 + 0.5 cos (3% + 0.08 cos (4£t) L -18  —58.1
To Om
6 Kaiser: 1<a<10 Mam —59.9 (o = 8.168)
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Table 6.2

The Laplace Transform Properties
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Table 6.1

A Short Table of (Unilateral) Laplace Transforms
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